SAMPLE QUESTION PAPER - 2009
CHEMISTRY - XII

Time: 3hrs.
M.M.: 70

General Instructions : - 

1.
All questions are compulsory.

2.
Question number 1 to 8 are very short answer questions, and carry 1 marks each.

3.
Question number 9 to 18 are short answer questions of 2 marks each.

4.
Question number 19 to 27 are short answer questions of 3 marks each.

5.
Question numbers 28 to 30 are long answer questions of 5 marks each.

6.
Use log tables if necessarry : Calculators are not allowed.
1.
Why is ferric chloride preferred over potassium chloride in case of a cut leading to bleeding ?




1

2.
Why do primary amines have high boiling point than tertiary-amines?






1

3.
Which compound led to discovery of compounds of noble gases?
1

4.
Give the IUPAC name of the organic compound.



1


(CH3)2C=CH  C  CH3



                  ||



                        O

5.
Give the formula for compound potassium hexacyanocobaltate (III).1

6.
Name the molecular geometry of XeO3.




1

7.
Direct nitration of aniline is not carried out, explain why?

1

8.
What are effective collisions ?




1

9.
The two strands of DNA are not identical but are complementary. Explain this statement.




2

10.
In an ionic compound the anion (N- )form cubic close type of packing. While the cation (M+ ) ions occupy one third of the tetrahedral voids. Deduce the empirical formula of the compound and the coordination number of (M+ ) ions.




2

11.
State the role of activated complex in a reaction and state its relation with activation energy.




2

12.
Give an example of fuel cell and write reactions occurring at anode and cathode.




2

13.
State and explain Faraday's laws of electrolysis.



2

14.
A mixed oxide of iron and chromium FeO.Cr2O3 is fused with sodium carbonate in the presence of air to form a yellow coloured compound (A). On acidification the compound (A) forms an orange coloured compound (B) which is a strong oxidising agent. Identify.



i)
the compounds (A) and (B).



ii)
write balanced chemical equation for each 
 step.   


2

15.
Give an example of :



i)
Rosenmund's reducation 



ii)
Aldol condensation




2

16.
Using valence bond approach predict the shape and magnetic character of [Co(NH3)6]3+ (Co=27).




2

17.
Differentiate the following pair of polymers based on the property mentioned against each :


i)
Novolac and Bakelite (Structure)


ii)
Buna-S and Terylene (Intermolecular forces of attraction)

2

18.
Write names and structure of monomers of each of the following:


i)
Natural rubber  ii)  Buna-S




2

19.
State the reactions taking place when


i)
Tert. buty I alcohol is heated with copper powder at 573 K.


ii)
An alkyl  isocyanide is reduced with LiAH4.


iii)
Bromine water is added to an aqueous 
 solution of aniline.

3

20.
a)
Alkyl halides give cyanides with KCN but 
isocyanides with AgCN as the products. Explain.


b)
The p-isomer of dichlorobenzene has higher 
melting point than o-and m-isomer. Why ?




3

21.
Taking two examples of heterogeneously catalysed reaction, explain how a heterogeneous catalyst helps in the reaction.


3

22.
Describe the following giving suitable example.


a)
Antioxidant               b) Mordant dyes 



c)
Hybrid propellants.




3

23.
Explain the following facts : -


i)
transition metals act as catalysts.


ii)
chromium group elements have the highest 
 melting points in their respective series.


iii)
transition metals form coloured complexes.3

24.
a)
Chloroform contains chlorine but gives no 
 reaction with  AgNO3  solution. Why ?


b)
Why is chloroform stored in dark coloured 
 bottles ?

3

25.
a)
What are essential and non-essential amino acids? Give example?





3


b)
Differentiate between RNA and DNA.

26.
Calculate percentage composition in terms of mass of solution obtained by mixing 300 g of 25% and 400 g of 40% solution by mass.






3

27.
i)
Chromium crystallises in bcc structures. If its 
atomic diameter is 245 pm, find its density.


ii)
Define dissociation in crystals.




3

28.
a)
An optically active compound having molecular formula C6H12O6 is found in two isomeric forms (A) and (B) are dissolved in water they show the following equilibrium :




5

[image: image1.emf][image: image2.wmf]Na
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(A)          Equilibrium mixutre                      (B)


[a]D =1110          52.20                   19.20

i)
What are such isomers called ?


ii)
Can they be called enatiomers ? Justify your answer.


iii)
Draw the cyclic structure of isomer. (A)


b)
Give the mechanisms of SN1 and SN2 reactions.


5

OR

[image: image3.wmf]
a)
Write the formulae of main product in the following chemical reactions :



i)
(CH3)2 CH   CI 



ii)
CH3Br+AgF  
[image: image11.wmf]
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2



iii)
CH3CH2Br+Nal 
[image: image5.wmf]




iv)



b)
Differentiate the following pair of polymers based on the property mentioned against each.



i)
Novolac and Bakelite (structure)



ii)
Buna-S and Terylene (Intermolecular 
forces of attraction)

5

29.
A translucent white waxy solid (A) on heating in an inert atmosphere is converted to its allotropic form (B). Allotrope (A) on reaction With very dilute aqueous KOH liberates a highly poisonous gas (C) having rotten fish smell. With excess of chlorine forms (D) which hydrolyses to compound (E) identity (A) to (E).




5

OR


Concentrated sulphuric acid is added followed by heating to each of the following test tubes labelled (i) to (v) :

[image: image6.wmf]

Identify in which of the above test tube of the following change will be observed. Support your answer with the help of a chemical equation.


a)
formation of black substance.


b)
evolution of brown gas


c)
evolution of colourless gas


d)
formation of brown substance which on dilution becomes blue.


e)
disappearance of yellow powder along with evolution of colourless gas.

30.
Answer the following : -




5


i)
Bleaching of flowers by Cl2 is permanent while by SO2 is temporary.


ii)
Nitric oxide becomes brown when released in air.


iii)
PCl5 is ionic in solid state.


iv)
What suggested Bartlett to discover noble gas compounds ?


v)
Bond dissocaition energy of F2 is less than Cl2.


or


i)
Of the ions Ag+, Co3+ and Ti4+, which will be 
coloured in aqueous solutions ?


ii)
If each one of the above ionic species is placed in a magnetic field, how will it respond and why ?

iii) Give electrochemical theory of rusting.
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